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Plot [[' EcFgro', 'EcFzExp', 'EcPltng’, 'ECdef’ ]]

2200 T
: ——  ECdef
2000
1800
1600
1400 ~
1200 - sossssssessesscollammiagoaosedl  EcFgro’, ' EcFzExp’, 'EcPltng’ 1lis missing
|
T T T I T T T
0 50 100 150 200 250
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—@— ECO

1500 - A

1400

1300 +

1200

1100 + ]

Warning: col ['FVOEC'] is missing /
1000 +

60 65 70 75 80 85



Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]

8.0 -

7.8 -

7.6 A

7.4

Warning: col ['PHC’', 'FVIPH ] is missing

—@— PHI

60

65

70

80

85




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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14:55 30 10.0 | = fnfe14:55 (REERSS)
21| 270.0 (9%) 90.0 EPHKEC: 2351, PH: 6.9

unusual large postFgEt from yesterday (125), set to 30.0 ml.
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